Project Management Fundamentals:

(Second Edition)

Solutions

Activity 3-2

1. You need to add an additional Task 7 to the network diagram. Task 7 must not begin until Task 6 is complete and Task 5 is dependent on Task 7. Which would be the most appropriate location for this task in the network diagram? Sketch your answer.
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The completed network diagram should look like this.

2. You need to add an additional Task 8 to the network diagram. Task 8 does not begin until tasks 4 and 5 are complete. Which would be the most appropriate location for this task in the network diagram? Sketch your answer.
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The completed network diagram should look like this.

3. According to the project schedule network diagram, which is Task 3’s predecessor activity?

     a) Task 5

     b) Task 6

√   c) Task 2

     d) Task 4

4. What task can be done in parallel with Task 1?

     a) Task 4

     b) Task 3

√   c) Task 6

     d) Task 2

Activity 3-3

1. In the given project schedule, the ES value of Task 1 is 0 and duration is 5. What will be the calculated EF value of Task 1? Sketch your answer in the diagram provided.
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The early finish of Task 1 = Duration of Task 1. Therefore, the EF value of Task 1 is 5. The EF value is added to the diagram above.

2. What will be the early start value of Task 2?
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The early start of Task 2 = The early finish of Task 1. Therefore, the ES value of Task 2 is 5. The ES value is added to the diagram above.

3. Calculate the early finish value of Task 2, given the early start value is 5 and duration is 4.
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The early finish of Task 2 = The early finish of Task 1 + Duration of Task 2. Therefore, the EF value of Task 2 is 9. The EF value is added to the diagram above.

4. Consider the early finish value of Task 2 as 9, the duration of Task 3 as 6, and the duration of Task 4 as 10. What will be the early start and early finish values of tasks 3 and 4?
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The early start of tasks 3 and 4 = The early finish of Task 2. Therefore, the early start of tasks 3 and 4 is 9. The early finish of Task 3 = The early start of Task 3 + Duration of Task 3 and the early finish of Task 4 = The early start of Task 4 + Duration of Task 4. Therefore, the early finish of tasks 3 and 4 are 15 and 19. The ES and EF values are added to the diagram above.

5. What will be the early start and early finish values for Task 5?

[image: image7.png]


The early start of Task 5 = Maximum early finish values of tasks 3 and 4. The early finish of Task 5 = The early start of Task 5 + Duration of Task 5. Therefore, the early start and early finish values of Task 5 are 19 and 24. The ES and EF values are added to the diagram above.

6. What are the early start and early finish values of tasks 6, 7, 8, and 9?
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The early start and early finish values of tasks 6, 7, 8, and 9 can be calculated as before. The early start values of tasks 6, 7, 8, and 9 are 24, 24, 24, and 34. The early finish values of tasks 6, 7, 8, and 9 are 34, 34, 32, and 54. The ES and EF values are added to the diagram above.

7. For Task 9, the early start value is 34 and early finish value is 54. What will be the calculated late finish value of Task 9?
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The late finish of Task 9 = The early finish of Task 9. Therefore, the LF of Task 9 is 54. The LF value is added to the diagram above.

8. The late finish value of Task 9 is 54. What is the late start value of Task 9?

[image: image10.png]


The late start value of Task 9 = The late finish value of Task 9 – Duration of Task 9. Therefore, the LS value of Task 9 is 34. The LS value is added to the diagram above.

9. What are the late finish and late start values of Task 8?
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The late finish of Task 8 = The late start of Task 9 and the late start of Task 8 = The late finish of Task 8 – Duration of Task 8. The LS and LF  values are added to the diagram above.

10. What are the late finish and late start values for tasks 6 and 7?
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Calculating the LF and LS values is similar to the earlier steps. The late start for tasks 6 and 7 is 24. The late finish for tasks 6 and 7 is 34. The LS and LF values are added to the diagram above.

11. What are the late finish and late start values for Task 5?
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The late finish of Task 5 = Minimum late start values of tasks 6, 7, and 8. The late start of Task 5 = The late finish of Task 5 – Duration of Task 5. The LS and LF values are added to the diagram above.

12. What are the late finish and late start values for tasks 1, 2, 3, and 4?
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The completed schedule diagram is given above.

13. Which is the critical path for this project?

     a) 1, 2, 4, 5, 8, 9

     b) 1, 2, 3, 5, 6, 9

√   c) 1, 2, 4, 5, 6, 9

     d) 1, 2, 3, 5, 8, 9

14. What is the duration of the critical path?

√   a) 54

     b) 56

     c) 52

     d) 50

15. Which activities in the project do not fall on the critical path?

     a) Task 6

     b) Task 4

√   c) Task 3

√   d) Task 8

